REE #%

BE B I ER®AE XS S ®RE
BFRAEILIENRBESEERPIASZE
BPREAEREIENEESEEREES R
DH2EE FRAIBFOMAIZDONT
SEEDEREREZTOMAEIEL. TROLEBYTYT . REBDFIIBETICEIEEDESREEOEAASL TV EZEFETI58BULELLEITFET,
<1F£E>
" o 0O E & & A H
A A A& 8 4 A 8 H#IA 6 H15H 7 H31H 9 H15H 11A2H 11H16H 12H15H 2A1H " =
% ES # 9,900 118,800 29,700 49,500 39,600 | = ES #
EEEARSE 500 500 .
® £ = % 950 11,400 1,900 9,500 EREERR
= S b= 47,000 30,000 8,000 5,400 3,600 . -,
il v % 100,000 15,950 21,100 27,150 20,400 15,400 FRIFRRE
PTAASR % 6,000 6,000
P T A S & 400 4,800 1,200 1,200 2,400 PTAH® £ &
MEIRERE 1,500 18,000 12,000 6,000
®t B = =B 600 7,200 2,400 2,400 2,400 BESERE
& 5 313,700 54,350 41,100 29,700 45,650 49,500 27,600 26,200 39,600
KBERITOWTE. MEXIEEEHETIADIL. BEEORRIRBEILBENIELEELEHYVERE A,
<2fFH£E>
" 0 E & &% A H
A H A& F # 4 H150 6 H15H 7 A31H 9 H15H 11H2H 11H16H 127150 2H1H " =
% ES # 9,900 118,800 29,700 49,500 39,600 | 2 E 3 #
® £ = % 950 11,400 11,400 ERRELE
z F & 30,000 10,000 9,000 11,000 2B RS
b kv % 70,000 18,000 30,000 22,000
P T A S & 400 4,800 1,200 3,600 PTAR S B
MEIRERE 1,500 18,000 9,000 9,000
®# B = #& 600 7,200 2,400 4,800 BiELHLE
= 5 260,200 39,400 48,000 29,700 34,600 49,500 19,400 0 39,600
KIBERIIDOWTE MERIBEEEHETIADI>L. BEEOHRERIBEILGNILEELEIHYVER A,
<3FHE>
" 0 E & &% A H
A H A& F # 4 H150 6 H15H 7 A31H 9 H15H 11H2H 11H16H 127150 2H1H " =
% ES # 9,900 118,800 29,700 49,500 39,600 | 2 E 3 #
® £ = % 950 11,400 9,500 1,900 ERRELE
=] S = 60,000 10,000 20,000 30,000 FESHBIRE
P TAZ & 400 4,800 3,600 1,200 _
MIETRIELE 1,500 18,000 15,000 3,000 PTARS R
% B = % 600 7,200 7,200 BESEFERE
& & 220,200 35,800 33,700 29,700 31,900 49,500 0 0 39,600

MIRERITOVTR MEXESERFETLHD55. BEORRIBEILLNITEELEHYFEE A




